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Nuclear	
  Processes	
  -­‐	
  3	
  
	
  Internal	
  Processes	
  …	
  	
  

	
  relaxaCon	
  of	
  excited	
  states	
  via	
  photon	
  emission:	
  	
  
	
   	
  e.g.,	
  proton,	
  neutron	
  excited	
  states,	
  nuclear	
  vibraCon	
  or	
  rotaCon	
  
	
  radioacCve	
  decay	
  (oUen	
  leads	
  to	
  nuclear	
  and/or	
  atomic	
  excitaCon)	
  

1)	
   	
  Nucleus	
  has	
  too	
  much	
  Coulomb	
  energy	
  	
  	
  
	
  	
  	
  	
  	
  	
  	
  nuclear	
  conversion/change	
  through	
  the	
  “strong	
  force”	
  …	
  alpha	
  decay,	
  fission	
  	
  
2)  Nucleus	
  is	
  unbalanced	
  with	
  respect	
  to	
  neutron/proton	
  number	
  

	
  nuclear	
  conversion/change	
  through	
  the	
  “weak	
  force”	
  …	
  beta-­‐decay,	
  	
  -­‐,	
  +	
  ,	
  capture	
  

€ 

42
99Mo→ 43

99mTc1+ + e− +υ e +Qβ − T1/ 2 = 73hr

6
11C→ 5

11B1− + e+ +υe +Qβ + T1/ 2 = 20min

23
50V → 22

50Ti1− + e+ +υe +Qβ + T1/ 2 =150Py

→ 22
50Ti +υe +QEC

81
201Tl→ 80

201Hg + υe +QEC T1/ 2 = 73hr

β -­‐	
  	
  decay:	
  	
  Electron	
  &	
  
anCneutrino	
  are	
  created	
  	
  

β +	
  decay:	
  	
  	
  anCelectron	
  
&	
  neutrino	
  are	
  created	
  	
  

	
  EC	
  decay:	
  	
  	
  electron	
  is	
  
destroyed	
  &	
  neutrino	
  is	
  created	
  	
  



The	
  ConservaCon	
  Laws	
  
	
  (Natural)	
  Law	
  is	
  a	
  concise	
  statement	
  of	
  observed	
  facts	
  in	
  a	
  natural	
  process.	
  

QuanCCes	
  that	
  are	
  conserved	
  in	
  (all)	
  nuclear	
  reacCons:	
  

1)  Total	
  energy	
  (including	
  the	
  mass	
  al	
  la	
  Einstein,	
  E=mc2)	
  	
  

Total	
  Energy	
  =	
  KineCc	
  Energy	
  +	
  PotenCal	
  Energy	
  +	
  “Mass	
  Energy”	
  	
  

2)  Momentum,	
  both	
  linear	
  and	
  angular	
  

	
  	
  	
  	
  Linear	
  momentum,	
  	
  	
  
	
  	
  	
  	
  Angular	
  momentum	
  =	
  orbital	
  moCon	
  (	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  )	
  +	
  spin	
  

3)  Electrical	
  charge	
  (protons	
  and	
  electrons	
  are	
  charged,	
  of	
  course)	
  

4) 	
  The	
  total	
  number	
  of	
  nucleons	
  and	
  separately	
  the	
  total	
  number	
  of	
  leptons	
  	
  

	
  	
  	
  	
  Nucleons:	
  proton,	
  neutron	
  
	
  	
  	
  	
  Leptons:	
  electron,	
  electron-­‐neutrino	
  	
  	
  [	
  anC-­‐electron,	
  anC-­‐electron-­‐neutrino	
  ]	
  



Aside:	
  AcCvity	
  
99mTc	
  	
  -­‐-­‐	
  	
  800	
  MBq	
  	
  is	
  typically	
  administered	
  during	
  diagnosCc	
  procedures.	
  	
  	
  

What	
  does	
  MBq	
  refer	
  to,	
  how	
  many	
  atoms	
  is	
  this?	
  

RadioacCve	
  sources	
  are	
  characterized	
  in	
  terms	
  of	
  the	
  number	
  of	
  decays	
  per	
  unit	
  Cme.	
  	
  
This	
  is	
  thus	
  called	
  the	
  ACTIVITY.	
  	
  The	
  historical	
  unit	
  of	
  acCvity	
  is	
  the	
  “Curie”	
  (Ci)	
  that	
  is	
  
defined	
  as	
  3.700…	
  x1010	
  decays/s	
  (the	
  approximate	
  decay	
  rate	
  of	
  1	
  gram	
  of	
  ‘natural’	
  
radium	
  separated	
  from	
  uranium	
  ore).	
  	
  	
  

The	
  modern	
  (SI)	
  unit	
  of	
  acCvity	
  is	
  the	
  “Becquerel”	
  (Bq)	
  that	
  is	
  1	
  decay/s	
  or	
  simply	
  1	
  s-­‐1	
  

Thus:	
  	
  800	
  MBq	
  (mega-­‐Becquerel)	
  =	
  800	
  x106	
  decays/s	
  =	
  8.00	
  x108	
  /s	
  

The	
  acCvity:	
  	
  A	
  =	
  λ	
  N	
  	
  	
  

so	
  that	
  in	
  this	
  case:	
  	
  N	
  =	
  A	
  /	
  λ =	
  A	
  *	
  T½	
  	
  /	
  ln	
  2	
  =	
  8.00	
  x108	
  /s	
  *	
  6.015	
  hr	
  *	
  3600	
  s/hr	
  /	
  0.693	
  
	
   	
  N	
  =	
  2.56	
  x1013	
  	
  	
  [dimensionless]	
  	
  



How	
  acCve	
  are	
  you?	
  

Nuclide	
   Mass	
  
(µg)	
  

Half-­‐life	
   Ac)vity	
   Decay	
  Mode	
  

238-­‐U	
   90	
   4.5x109y	
   30	
  pCi	
  (1.1	
  Bq)	
   Alpha	
  Emission	
  

232-­‐Th	
   30	
   1.40x1010	
  y	
   3	
  pCi	
  (0.11Bq)	
   Alpha	
  Emission	
  

40-­‐K	
   17	
   1.248x109y	
   120	
  nCi	
  (4.4	
  kBq)	
   Beta	
  Minus	
  

226-­‐Ra	
   31	
   1600	
  y	
   30	
  pCi	
  (1.1	
  Bq)	
   Alpha	
  Emission	
  

14-­‐C	
   0.022	
   5700	
  y	
   0.1	
  µCi	
  (3.7	
  kBq)	
   Beta	
  Minus	
  

3-­‐H	
   0.06	
  pg	
   12.32	
  y	
   600	
  pCi	
  (23	
  Bq)	
   Beta	
  Minus	
  

218-­‐Po	
   0.02	
  pg	
   3.05	
  m	
   1	
  nCi	
  (37	
  Bq)	
   Alpha	
  Emission	
  

Calculate	
  the	
  acCviCes	
  in	
  a	
  typical	
  person	
  (70	
  kg)	
  given	
  the	
  following	
  data:	
  



Nuclide	
   Mass	
  
(µg)	
  

Half-­‐life	
   Ac3vity	
   Decay	
  Mode	
  

238-­‐U	
   90	
   4.5x109y	
   30	
  pCi	
  (1.1	
  Bq)	
   Alpha	
  Emission	
  

232-­‐Th	
   30	
   1.40x1010	
  y	
   3	
  pCi	
  (0.12Bq)	
   Alpha	
  Emission	
  

40-­‐K	
   17	
   1.248x109y	
   120	
  nCi	
  (4.5	
  kBq)	
   Beta	
  Minus	
  

226-­‐Ra	
   31	
   1600	
  y	
   30	
  pCi	
  (1.1	
  Bq)	
   Alpha	
  Emission	
  

14-­‐C	
   0.022	
   5700	
  y	
   0.1	
  µCi	
  (3.7	
  kBq)	
   Beta	
  Minus	
  

3-­‐H	
   0.06	
  pg	
   12.32	
  y	
   600	
  pCi	
  (22	
  Bq)	
   Beta	
  Minus	
  

218-­‐Po	
   0.02	
  pg	
   3.05	
  m	
   1 µCi (0.2	
  MBq)	
   Alpha	
  Emission	
  

How	
  acNve	
  are	
  you?	
  

Calculate	
  the	
  acNviNes	
  in	
  a	
  typical	
  person	
  (70	
  kg)	
  given	
  the	
  following	
  data:	
  

€ 
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